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HW 3 - 2: Answers

1. x=6,y=1 4. There will be 16
_ _ _ roses, 6 lilies, and 2
2. x=-2,y=-3,2=2 tulips in her basket.

3. x=2,y=5,2=-1 5 He would spend $11

on the requested order.
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Solve the following systems.
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3. axey+3z:4 Ty-1y-12 =
( _oyrsEel
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4. A florist is making a bouquet of flowers. She has $58 to spend (including tax) and
wants 24 flowers in the bouquet. Roses are $3 each, tulips cost $2 each, and lilies
Le'l' cost $1 each. She wants to have twice as many roses as the other two flowers

combined the bouquet. How many of each flower type will be in her bouquet? o~
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5. Gramps loves his sweets! He has been to the candy shop 3 times this monthl On his

first visit he bought 1 pound of jelly beans and 2 pounds of chocolates for $7. On
his second visit they were out of chocolates so he bought 1 pound of jelly beans and
2 pounds of caramels for $5. On his third visit, they had replenished the chocolates
so0 he went all out and bought 1 pound of jelly beans, 3 pounds of chocolates and 2
pounds of caramels all for $14. HOwy ryinicfy ¢
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Warm-Up:
Graph: x+y=6 i
3x+y=2 mn
y=-x+6 y=3x+2 T ‘
m=-1 m=3 mmm
1,5 =
b=6 b=2 52 HH

Solve the above system algebraically.

3x+3y=18 x+b5=6

3x+y=z2 x=1
4y=20
y=5
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For the next two examples, x +y = 6 and a second equation have been graphed for you.
Determine the solution for each system.

If you were to graph a circle and a line on the same set of axes, how many solutions are
possible? Sketch each possibility.

Iz enen

How about a parabola and a line? Again, sketch each possibility.
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The standard form of an equation for a circle is: (x - h)? + (y - k)? = r2

Where the center is: L'\ K And the radius is: ,‘; 7
oppas‘r%c

1, x2+y?=25 2. (x-2P+(y+3r=4
D guestion 1 frem Day 5
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On the same set of axis (above) graph:
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Review Completing the Square. Set up. Do not solve.

xrax=6

Rewrite the equation of the circle by completing the square in both x andy. Describe and graph
the circle represented by the equation.

3. +y*-4x+2y+1=0
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4. x*+y'-6x+4y-3:0
Homework Change:
Replace question#2 with Hwk 3-5 #1
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